Recognising Coins

There are 50p coins.

There are 20p coins.

1. Finish the sentences to match the coins below.

There are 3

coins.

There is 1

coin.
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2. Draw the correct number of 1p coins to match the coins below.
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3. The children are discussing their coins.

| have the most money
because | have the
most coins.

Miles ‘ ‘ ‘ ‘

Who is correct? Explain why.

| have the most money
because my coins have
the greatest value.
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Recognising Coins

1. Finish the sentences to match the coins below.

There are| 4 | 50p coins. There are 3| 1p | coins.

There are| 2 | 20p coins. Thereis 1| £2 | coin.

2. Draw the correct number of 1p coins to match the coins below.
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3. The children are discussing their coins.

| have the most money | have the most money
because | have the because my coins have
most coins. the greatest value.
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Who is correct? Explain why.
Bella is correct. Miles has 4 coins, they are all worth 1p. He has 4p in total. Bella only
has 2 coins, but they are both worth £1. She has £2 in total.
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